8% i R A 2 A B B AR B A T

Jhiac) 2 U515 LIRS KA ERBSHEE  BRSRRE
1 Y EINE: 110XXXXXXXXXXX7013 83.25 1 1E5
2 VLIRS 610xxxxxxxxxxx0088 82.75 2 1EH
3 TR HE 620xXXXXXXXXXX 1023 82.25 3 1E5
4 FH B 110xxxxxxxxxxx1120 80 4 1EH
5 2K 110xxxXXXXXXXXXx2014 79.5 5 1EH®
6 TRk 110XXXXXXXXXXX 1511 78.75 6 1EH
7 it g 84 232XXXXXXXXXXX4624 78.75 6 W
8 FZEHR 620xxxxxxxxxxx0826 77 8 1EH
9 AR T 110XXXXXXXXXXX4229 76.25 9 1E5
10 H z s 110XXXXXXXXXXX3616 75.5 10 1EH
11 gkl 130xxXXXXXXXXX8415 74.5 11 1E5
12 X 110XXXXXXXXXXX3035 74 12 1E
13 PR 110XXXXXXXXXXX 1524 71.75 13 %
14 T T 37 IXXXXXXXXXXXT 527 71 14 W
15 A H 130xxxxxxxxxxx00023 70.5 15 1EH®
16 ERAH 110XXXXXXXXXXX64 14 70.5 15 1EH
17 S T1OXXXXXXXXXXX231X 69.75 17 1E5
18 RER T10xxXXXXXXXXXX8644 69.25 18 1EH
19 Ji8 % 110XXXXXXXXXXX 1510 68.75 19 W
20 S 142xxxxXXXxxXxx 1028 68.25 20 E#
21 % 5 110xxxxxxxXxXx0320 67.5 21 1E5
22 PN YR 110xxXXXXXXXXxX2014 67 22 1EH
23 i 500xXXXXXXXXXX7 89X 66.75 23 1Ew
24 FREL O 110XXXXXXXXXXX97 2X 66.5 24 EH
25 B SINIE 220XXXXXXXXXXX4517 66 25 1E5
26 e 110XXXXXXXXXXX6512 65.75 26 E#
27 IR B 110XXXXXXXXXXX9740 65 27 B
28 RRE T10XXXXXXXXXXX4718 64.25 28 1EH
29 SRR & T1OXXXXXXXXXXX27 16 64.25 28 1E5
30 kL4 110XXXXXXXXXXX5821 63 30 B
31 HT % 11 0XXXXXXXXXXX9759 62.75 31 E#
32 TBEAC 110xxXXXXXXXXX 1011 62.5 32 B
33 Sy 110xXxXXXXXXXXXX2120 61.25 33 1E5
34 R 110xxXXXXXXXXX0928 61 34 E
35 T T10XXXXXXXXXXX 1915 60.75 35 1E5
36 X TE 130XXXXXXXXXXX6429 58.25 EH
37 AT R 110xxxxXXXxXxx4018 0 Gk
38 Zih— 500xxxxxxxxxxx0044 0 =2
39 EhIE 37 1XXXXXXXXXXX4815 0 G
40 =Y/ 110xxxxxxxxxxXx0022 0 T
41 2K B 11OXXXXXXXXXXX5412 55.75 1w
42 iR 110xxxxxXxxxxx0014 53.75 1EH
43 o 130XxXXXXXXXXXX3329 0 e
44 R 110xxXXXXXXXXXX 1011 52.75 1E®
45 AR TR 110XXXXXXXXXXX1913 0 G
46 MrEEZTE | 110xxxxxxxxxxx1067 0 ¥
47 A5 110XXXXXXXXXXX 1811 0 G




48 K R 110XXXXXXXXXXX 1913 0 o
49 ViR 110XXXXXXXXXXX5016 47.75 1Ew
50 R 130XXXXXXXXXXX3486 58 1E
51 B 11OXXXXXXXXXXX 1223 49 1E%
52 K 110XXXXXXXXXXX 1420 0 e
53 I 110XXXXXXXXXXX2114 0 Tt
54 BEA=Es 110XXXXXXXXXXX6118 0 i
55 s 110xxxxxxxxxxx0029 0 G
56 Zs[H 110XXXXXXXXXXX3324 0 G
57 AR IR 110xxxxxXXXXXxX001X 0 Tt
58 =N 1310xxXXXXXXXXXx0269 0 G
59 N 11 OXXXXXXXXXXX9742 0 G
60 JE 1% 110xxxXXXxXxXxx0323 0 Bt
61 KSR 110xxxxxxxxXxx0018 0 G
62 MEE 150XXXXXXXXXXX 1129 0 Gt
63 FiH 341XXXXXXXXXXX3719 49.25 1E5
64 TR 130XXXXXXXXXXX5813 53.5 1w
65 = T10XXXXXXXXXXX5312 0 e
66 ViEEA:] 410xxxxXxxXxxxxx0028 0 G
67 g H 5% 110xXXXXXXXXXX3016 0 B
68 VNS 110XXXXXXXXXXX2328 0 7
69 TR 110XXXXXXXXXXX04 31 46.25 1E5
70 == 110xxxxxxxxxxx0038 56.5 1EH




